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FORENSIC SCIENCE
Paper - 11

In India the first government
examiner of questioned document

laboratory was established in
(A) Kolkatta (B) Hyderabad

(C) Shimla (D) Chennai
Match the following :
List -1 List — II
(a) Principle of (i) Burrad
exchange

(i1) Bertillon
(iii) Fauld

(b) Dactyloscopy
(c) Forensic
anthropometry
(d) Forensic
ballastics
Codes :
@ () () (d)
(A) () (@) (@) (v)
B) @) @v) (1) (i)
©) Gv) @) ) (@)
(D) i) @v) @) (@)
Lok Nayak Jai Prakash National
Institute  of  Criminology and
Forensic Science was started in New
Delhi in the following year :
(A) 1970 (B) 1972
(©) 1974 (D) 1976

(iv) Locard

Blood group typing is a part of the
following :

(A) Forensic pathology

(B) Forensic serology

(C) Odontology

(D) Criminal investigation

Preservation of surface footprint can
be done by the following :

(i) Photography

(i) Casting

(iii)) Tracing

(iv) Electrostatic method

Codes :

(A) (1), (i1) and (iii) are correct.
(B) (i), (i1) and (iv) are correct.
(C) (1), (ii1) and (iv) are correct.
(D) (), (ii1) and (iv) are correct.
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6.

10.

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Match the instrument with the source

of radiation :
List -1 List — II
(i) AAS (a) RA2?
(i) UV (b) Tungsten
radiation filament lamp
(ii1) Visible (c) Hydrogen
radiation lamp
(iv)NAA (d) Hallow
cathode lamp
Codes :

(1) (i) (i) (@v)
(A) (¢ @ () (@
B) (@ () @ (o
€) (b) (@ () (d
O @ © b @

In NMR, magnetic field strength is
measured in

(A) Pascal (B) Tesla

(C) Trit (D) Trist

Assertion (A) : The drug can be
analysed by HPLC.

Reason (R) : Because drug gets
precipitated with column.

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Which part of the microscope
focuses the light on an object ?

(A) Body tube

(B) Abbe’s condenser

(C) Iris diaphragm

(D) Coarse focus

ABO blood grouping is based on
(A) Red cell enzyme

(B) Red cell antigen

(C) Plasma proteins

(D) HLA
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11.

12.

13.

14.

15.

16.

Assertion (A) : DNA isolated from
skeletal remains, gives same
pattern as that of blood.

Reason (R) Because DNA is
somatically stable.

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true.

(C) (A)is correct, but (R) is false.

(D) (A)is false, but (R) is true.

The following are the red-cell

enzyme except

(A) Adenylate kinase

(B) Phospho glucomutase

(C) Peroxidase

(D) Haptoglobin

PGM, ESD and GLO-I enzymes can
be analysed on a single plate by

(A) Single system of electrophoresis
(B) Multi-system of electrophoresis
(C) Thick gel electrophoresis

(D) None of the above

Which of the following insecticides
is of vegetable origin ?

(A) Pyrethrins (B) DDT

(C) Eldrin (D) Malathion

Assertion (A) : Methyl alcohol is a
CNS depressant and toxicity is
mainly due to formic acid.

Reason (R) : Because Methanol is
metabolised by the liver.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.

If a dead body lying on its back

shows lividity features on the front,

it indicates that

(A) Death was sudden

(B) Dead body was shifted

(C) Death was due to blood loss

(D) Time since death was less than
12 hours
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17.

18.

19.

20.

21.

The following are the active
constituents of papaverum somniferum
(i) Calatropin

(i1)) Codein

(iii)) Papavarine

(iv) Hyocyamine

(A) (1) and (i1) are correct.

(B) (i) and (iii) are correct.

(C) (1) and (iv) are correct.

(D) (i) and (iv) are correct.

The following drug can be extracted
from viscera by ammonium sulphate
method :

(A) Barbiturate

(B) Arsenic trioxide

(C) Insecticide

(D) Non-volatile organic compound

The term ‘cocaine bugs’ associated
with chronic consumption of cocaine
refers to

(A) Hallucination (B) Delusion
(C) Illusion (D) Delirium

Assertion (A) The chemically
erased ink writings can be
restored.

Reason (R) : Because the reaction of
chemical erasure and ink is
reversible.

(A) (A)is true, but (R) is false.

(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Mention the gunshot discharge
travelled in ascending order.

(A) Unburnt particles, flame,
smoke, projectiles
(B) Unburnt particles, smoke,
flame, projectiles
(C) Smoke, flame, unburnt
particles, projectiles
(D) Flame, smoke, unburnt
particles, projectiles
D-82-10
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12.
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18.

19.

20.

21.
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22.

23.

24.

25.

26.

Which of the following bullets is
used in firing ranges of the police
training ?

(A) Dum-dum
(C) Frangible

(B) Explosive
(D) Tracer

Assertion (A) : Rifling in a SLR
helps to shoot a target with
greater accuracy.

Reason (R) : Rifling helps in the
reduction of pellet dispersion.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Match the following :
I.  Griess Test 1. Infrared
photography
II. Empty 2. Pistol
Cartridge case
at scene of
occurrence

II. Powder pattern 3. Shot gun
IV. Wads at scene 4. Presence of
of occurrence nitrite
Codes :
(D ) I (IV)
(A) 3 2 1 4

@) 4 2 1 3
@ 1 2 3 4
M 2 3 1 4

The following rule helps to
determine the sequence of shots fired
on a skull :

(A) Durham’s
(C) Burtonian

(B) Puppi’s
(D) Haases

Singing effect is characteristic of
L Hair II. Wool
III. Nylon IV. Cotton

(A) Tand II are correct.
(B) Iand III are correct.
(C) Iand]l1V are correct.
(D) III and IV are correct.
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27.

28.

29.

30.

DNA can be isolated from the
following part of hair :

1. Root 1I. Cortex
II. Cuticle IV. Medulla
Codes :

(A) II, III and IV are correct.
(B) III, IV and I are correct.
(C) I IIand]1V are correct.
(D) I, IT and IIT are correct.

Which of the statement is false ?

(A) Imbricate types of scales are
present along the hair shaft
from root to tip.

(B) Pigment is more densely
distributed near the medulla in

human hair.
(C) Human hair medulla can be
continuous, discontinuous,

fragmented and absent.

(D) Mitochondrial DNA can be
extracted from human hair
shaft if root is absent.

Match the following :
List -1 List — 11
(a) Urobilinagen Test 1. Saliva
(b) Gunzberg’s Test II. Urine
(c) Creatinine Test III. Faecal
matter

(d) Starch-lodine Test 1IV. Vomit
Codes :
@ () (© (@
(A) 1 1v. 11 I
B) 1 I mu 1v
O Iv I 1 II
(D) IO 1m 1 1V

Which of the following wounds/

injury does not amount to grievous

hurt ?

(A) Permanent loss of hearing

(B) Fracture of a bone

(C) Black eye (Racoon eye)

(D) Permanent disfiguration of
face
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31.

32.

33.

34.

3s.

Which of the following statement is

not true ?

(A) Glass has unusual property of
non-crystalline.

(B) First type of synthetic glass
was soda lime.

(C) Glass is supercooled liquid.

(D) Pyrex is one of the most
common trade names of soda
lime glass.

RRR formula in glass examination is

useful in ascertaining

(A) the Refractive Index of the
glass sample.

(B) the Density of the
sample.

(C) to determine the side from
which force has been applied.

(D) the Hardness of the glass
sample.

glass

To exclude soil sample from
different sources, the comparison of
colour should be carried out under
(A) Day light

(B) Incandescent light

(C) Fluorescent light

(D) All of the above

The following parameters influence
the nature of tool marks :

1. Horizontal angle of tool

2. Vertical angle of tool

3.  Pressure on tool

4.  Side of the tool blade

(A) All are correct.

(B) 1,2 and 3 are correct.

(C) 1 and 2 are correct.

(D) 1 is correct.

Different dye constituents of ink can
be separated with the help of

(i) TLC

(i) VSC

(iii)) Electrophoresis

(iv) ESDA

(A) (1) and (ii) are correct.

(B) (i) and (iii) are correct.

(C) (1) and (iii) are correct.

(D) () and (iv) are correct.
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36.

37.

38.

39.

40.

McNaughten was
delusion of

(A) Infidelity

(B) Persecution
(C) Grandeur
(D) Delirium

suffering from

The gait pattern is examined for the
following features :

(A) Direction line, foot angle

(B) Foot length, step length

(C) Walking line, step breadth

(D) All of the above

The fusion of
epiphysis is called
(A) Sternal ends
(B) Brow ridges
(C) Metaphysis

(D) Sciatic notch

diaphysis and

Which is the best feature of the
Pelvis bone that helps in accurate sex
determination ?

(A) Subpubic angle

(B) Greater sciatic notch

(C) Inverted Ischial tuberosity

(D) Everted Ischial pubic rami

Match the following :
I. Gustafson 1. Age from crown-
Method heel length

II. Boyde’s 2. Age from a tooth
Method

II1. Haasis 3.
Rule

IV. Haderup 4. Sex determination
System

Charting of teeth

5. Incremental lines

Codes :

| o oI Iv
(A 2 5 1 3
B) 4 1 2 5
©) 3 4 5 1
D) 1 2 3 4
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40.

Hep e Tohd forvd ¥ difed a1 2
(A) =owTE
(B) seiigd
(C) v

(D) ST

frafeataa & @ frg faferedr grr =
T T ILI&T0T BT & ?

(A) feom dfe, ug =i

(B) U I IS, T ohi oTFaTTg

(C) <o o1 Ufed, T ol e

(D) S T

fERus R ARANWR & THEHT I T
FEd & ?

(A) WA

(B) it o

(C) HeTHEEMad

(D) Toaiies HiomRe

o i & Dl DI Tl gaH faremedr &
g @@l for fawror 9 wear et
g7

(A) T fefh e

(B) T Twanfess A

(C) TERE aaet TgaRIfaer

(D) A 3T e T

et =t gaferd ity :

I TERET 1. ShTSH-Et
fafy T H 37

[I. SEE®H 2. TAH Y
fafer

111 fge =g 3. 3 fa=ma

IV. g0 ugfd 4. for Faror

5. ZShIHEA g
HiE
I o I IV
A 2 5 1 3
B 4 1 2 5
C 3 4 5 1
M 1 2 3 4
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41.

42,

43.

44.

45.

Assertion (A) : Stereoscopic microscope
is used to determine the
sequence  of  intersecting
strokes in writing.

Reason (R) : Stereoscopic microscope
enables to view thickness of
the strokes.

(A) (A)istrue, but (R) is false.
(B) Both (A) and (R) are correct.
(C) (A)is false, but (R) is true.
(D) Both (A) and (R) are false.

Free hand forgery has inherent

feature of

(A) Defective line quality

(B) Dark strokes

(C) Superior line quality

(D) None of the above

Ten digit classification system of

fingerprint is credited to

(A) E.R. Henry

(B) Vucetich

(C) Both (A) and (B)
(D) Francis Galton

Obliterations can be defined as

(A) Removing writing with
mechanical means

(B) Removing writing with
chemical means

(C) Covering the writing with
coloured matter

(D) None of the above

How many characters are present per
inch in Pica type of typewriters ?

(A) 12

(B) 10
< 9
(D) 15

Read the following passage and answer
questions from 46 to 50 :

A decomposed body infested with

maggots and head injuries over the vault of

the skull was recovered floating in a lake.

The airways showed presence of froth and

weeds.

46.

47.

48.

49.

50.
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Which of these tests will decide that
it is a case of drowning ?

(A) Diatom

(B) Hydrostatic
(C) Getler

(D) Immunoassay

The accurate identification of the
body can be done by

(A) Superimposition technique
(B) DNA of skeletal remains
(C) Clothes on the dead body
(D) Injuries on the dead body

Age of this dead body can be
determined by which of the
following ?

(A) Weight of the body

(B) Length of the body

(C) Odontology study

(D) Size of the skull

Time since death can be estimated
with the help of

(A) Decomposition change

(B) Environmental temperature

(C) Injuries

(D) Entomology

Presence of froth and weeds in
airways is suggestive of

(A) Post-mortem drowning
(B) Ante-mortem drowning
(C) Head injury

(D) None of the above
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41.

42.

43.

44.

45.

ARTRe (A) : iRy ATgshieng
T T WfedRl ST o hH &
faRoT A e |

a (R) : feRarepius HAhRey

JTETT Y HISTE ol ST H TETIh

TAE |

(A) ®Er g, W= (R) Ter 2 |

(A) R (R) SHT eI € |

(A) T &, R (R) WEI & |

(A) 3R (R) IHI AT & |

(A)
(B)
(©)
(D)

WI-8U8 St § i § rdmed
LT BT & 2

(A) ool dferRt ToTeRT

(B) T

(C) 3 UfdRt ToTerT

(D) Wik § I HIS &l

3T ToeT T S9T-3ieh ST i
&1 9 fRgen & ?

(A) LA TR

(B) Tgdfed

(€) (A) R (B) gl

(D) wilgq e

YATT oh RIS fea ST ©
(A) it faty 9 fafa i fgemr |
(B) Ttk faty | feAta ot foer |
(C) T 9= & Tl st ol |
(D) Sude | 9 IS off Té |

TTWER o UEH 2T H Ufd 3= H
fohe vl B € 2

(A) 12

(B) 10

€ 9

(D) 15

7T TS R UfeU SR W 46 H 50 IF
Wtﬁﬁqz

T T Tl AT T R T ot off e wragt
% O AN IR e o Ueh el | SaRTelt g5 TS
TS | 9T % &ha | AT 3R e TRUeR
TETE |

46.

47.

48.

49.

50.
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g Wieror | o8 faiia e < gedr &
FaR g FaE?

(A) SrFuH

(B) ®EgRICH

(C) TeeR

(D) F=H

AT W 3 TeaH (BHme) 39 g
I ST Heell &

(A) 3Ry faty &

(B) 31 TSR & B.UA.U. TeT0T §

(C) Hd IRR W U A ATt oSl §
(D) Td IRR W U el &

frefafea o @ fog fafe grr ga =t
T 3T I AU Toham ST ke & 2
(A) IR & 9R

(B) T IR i oT=Tg

(C) T o7 farg

(D) WISl I HR

T & 9T 1 SAM TR FeId o
AT ST el &

(A) ToEeT o SRt 3N aRed

(B) SITTeROT ST ATqH

(C) =

(D) e fagm

T el W O SR WRUAEAR
IR T Hohet & foh

(A) TRUTURT G ol JIFET |

(B) RUI-Y& S Sl AIHEA |

(C) Tm=r=e

(D) SWis T ¥ HIE & |
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